

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average
 (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT
 Organic Exemption Request Under National Research and Promotion Programs

OMB NO.
 0581-0217

DATE PREPARED
 October 31, 2007

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		FORMS NO (S) (If "none" so state)	ANNUAL BURDEN								
SECTION OF REGS. (A)	DESCRIPTION (B)		REPORTS					RECORDS			
			NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD-KEEPERS (I)	ANNUAL HOURS PER RECORD-KEEPER (J)	TOTAL RECORD-KEEPING HOURS (Col. I x J) (K)	
7 CFR	Organic Exemption Request Form	AMS-15			0.00			0.00			0.00
1150.157	- Dairy		900.0	1.0000	900.00	0.5000	450.00				0.00
1160.215	- Fluid Milk		0.0	0.0000	0.00	0.0000	0.00				0.00
1205.519	- Cotton		110.0	1.0000	110.00	0.5000	55.00				0.00
1206.102	- Mangos		6.0	1.0000	6.00	0.5000	3.00				0.00
1207.514	- Potatoes		35.0	1.0000	35.00	0.5000	17.50				0.00
	SUBTOTAL				1,051.00		525.50	0.00			0.00
	TOTAL OF ALL PAGES				2,465.0		1,232.5	0.00			0.00

TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c				2,465.00		1,232.50			
---	--	--	--	-----------------	--	-----------------	--	--	--

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average
 (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT
 Organic Exemption Request Under National Research and Promotion Programs

OMB NO.
 0581-0217

DATE PREPARED
 October 31, 2007

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		FORMS NO (S) (If "none" so state)	ANNUAL BURDEN							
SECTION OF REGS. (A)	DESCRIPTION (B)		REPORTS					RECORDS		
			NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD-KEEPERS (I)	ANNUAL HOURS PER RECORD-KEEPER (J)	TOTAL RECORD-KEEPING HOURS (Col. I x J) (K)
1209.252	- Mushrooms		2.0	1.0000	2.00	0.5000	1.00			0.00
1210.516	- Watermelons		28.0	1.0000	28.00	0.5000	14.00			0.00
1215.300	- Popcorn		0.0	0.0000	0.00	0.0000	0.00			0.00
1216.56	- Peanuts		54.0	1.0000	54.00	0.5000	27.00			0.00
1218.53	- Blueberries		7.0	1.0000	7.00	0.5000	3.50			0.00
1219.102	- Hass Avocados		60.0	1.0000	60.00	0.5000	30.00			0.00
SUBTOTAL					151.00		75.50	0.00		0.00

<p>INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.</p> <p style="text-align: center;">(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average</p> <p>(K)Total/(I)Total = (J)Average</p> <p>NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.</p>	<p>TITLE OF INFORMATION COLLECTION DOCUMENT</p> <p>Organic Exemption Request Under National Research and Promotion Programs</p>	<p>OMB NO.</p> <p>0581-0217</p> <hr/> <p>DATE PREPARED</p> <p>October 31, 2007</p>
--	--	--

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN							
SECTION OF REGS. (A)	DESCRIPTION (B)		REPORTS					RECORDS		
			FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD-KEEPERS (I)	ANNUAL HOURS PER RECORD-KEEPER (J)
1220.302	- Soybeans		1,028.0	1.0000	1,028.00	0.5000	514.00			0.00
1230.102	- Pork		18.0	1.0000	18.00	0.5000	9.00			0.00
1240.114	- Honey		10.0	1.0000	10.00	0.5000	5.00			0.00
1250.530	- Eggs		0.0	0.0000	0.00	0.0000	0.00			0.00
1260.302	- Beef		167.0	1.0000	167.00	0.5000	83.50			0.00
1280.405	- Lamb		40.0	1.0000	40.00	0.5000	20.00			0.00
SUBTOTAL					1,263.00		631.50	0		0.00